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Direction (Q. Nos. 1-5)
following passage and answer the

these questions should be based on the
passage only :

Passage 1

The global refugee crisis has reached
alarming proportions, with millions of
people fleeing their homes due to conflict,
persecution and instability. Data and
statistics underscore the magnitude of
this crisis, shedding light on the immense
challenges faced by both refugees and
host countries.

As of the most recent UNHCR report, there
are over 82 million forcibly displaced people
worldwide. This includes refugees, asylum
seekers and internally displaced persons.
The number of refugees alone has
surpassed 26 million, with nearly 80% of
them hosted by neighbouring countries in
regions facing their own challenges.

Syria remains one of the most: 31gn1ﬁcant
contributors to the refugee crisis. Since
the onset of its civil war in 20711, an
estimated 67 million Syrians have fled
their country. Afghanistan is another
major source, with over 2:7 million,
refugees, driven by ongoing conflict and

economic turmoils -have resulted

staggerlng 5-4 million peopless ;e
refugees in nelghbourmg countr

Developing nations shoulder fantial
burden in. hostirg refugee:@mtries like

Pakistan and are among
16 in; ions. Turkey
RoLe tha ‘million refugees,

ia 1ac1ng 31gn1ficant.

mmunlty faces a
e 1n addressmg thlS

mponents of a comprehenswe
e. However, strained resources,
political complexities and the growing
trend of anti-immigrant sentiment in
some host countries present obstacles. to
find effective soiutlons

: Read the

questions that follow. Your answers to
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n conclusion, the current international
refugee crisis is a complex issue with far-
reaching implications. Data and statistics
highlight the staggering numbers of
displaced individuals and the significant
challenges faced by both refugees and
host countries. Addressing this crisis
requires international cooperation, policy
reforms and a commitment to upholding
human rights in the face of adversity.

1. How many forcibly displaced péople
_are there globally, according to the
UNHCR report?

(A) 26 million
(B} 50 million
(C) 82 million
(D) 100 million
2. Which country has hosted the
largest number of refugees from
Syria?
(A) Turkey
(B) Jordan
(C) Lebanon
(D) Iraq
3. What is a major driver of the
refugee crisis in Afghanistan?

(B} Religious freedom

(C) Ongoing conflict and i ze%;ﬂy

(D) Political stability

4. Among the listed countties, which
one hosts the mos@:gees?

nfrastructure

Low levels of international
cooperation

(C) Anti-immigrant sentiment and
strained resources

(D) Ignoring human rights concerns
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Direction (Q. Nos. 6-10) : Read the
following passage and answer the questions
that follow. Your answers to these questions
should be based on the passage only :

Passage 2

Genetic engineering, a revolutionary branch
of biotechnology, continues to evolve rapidly,
transforming the way we approach
medicine, agriculture and various scientific
endeavours. Recent developments in this
field highlight both the immense potential
and ethical considerations that come with
the power to manipulate DNA.

In the medical realm, gene editing
technologies like CRISPR-Cas9 have gained
prominence. These tools offer
unprecedented precision in modifying
genes, holding promise for treating genetic
disorders. In a groundbreaking clinical trial,
researchers successfully used gene editing
to treat sickle cell anaemia. The patient’s
own modified cells were reintroduced into

and an improved quality of life.

In agriculture, genetic engineering is driving
advancements in crop production and iood
security. The development of Genetically
Modified (GM) crops has enabled plants to
resist pests, withstand harsh climates and
improve nutritional content. ¥or mstance

higher levels of essential v1tam1x{§l
potentially combating malnutriti
regions where rice is a staple foo&%_'

However, these advancementsf@l‘g raise

ethical concerns. The poten creating

“designer bables” through getredediting has
d e

abouty oundaries of
Atior ¢ question of
i o alter human DNA

or cognitive traits
ge Dbioethicists,

were approximately 150 CRISPR-related
publications; by 2020, that number had
soared to over 9,000. This surge
demonstrates the profound impact of genetic
engineering on the scientific commumty

their body, resulting in reduced symptoms

f{‘m

GM rice has been bicfortified to conta}Q:\
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genetic engineering, striking a balance
between innovation and ethical
considerations remains paramount. The
potential to cure genetic diseases,
enhance food security and make leaps in
scientific understanding is immense.
Howevey, careful consideration and
collaboration are necessary to ensure that
the benefits are realized while addressing
the ethical complexities that accompany
these technological breakthroughs.

6. Which gene editing technology has
gained prominence recently?

- {(A) PCR

(B} CRISPR-Cas9

(C) DNA sequencing

(D) Microarray analysis

In a clinical trial, gene editing was

successfully used to treat which
genetic disorder?

(A} Cystic fibrosis

(B) Huntirigton’s disease
(C) Sickle cell anaemia
(D) Diabetes ‘

. What is one of the benefits of
Genetically Modified (GM) orops?’
(A) Increased susceptibility

pests f‘;\i
(B) Reduced nutritional teat
(C) Impfoved crop yiel@%ﬁ pest

resistance
(D) Longer growth{?&ds

al co is associated
ati¢, engineering?

ood security

ated scientific publications
anged over the past decade?

A) It has remained constant

(B} It has decreased significantly
- (C) It has increased moderately

- {D) It has multiplied exponentially

sl As we navigate this brave new world of

A
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(A) PCR

(B) CRISPR-Cas9

(C) DNA sequencing
(D) Microarray analysis
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Direction (Q. Nos. 118&12) : In questlons
given below, a part of the sentence is

ined. Below are given
alternatives to the itahc:sed part which
may improve the sentence. Choose -the
correct alternative. In case no improvement
is needed, option (D) is the answer :

11. The workers are hell bent at getting

what is due to them.

(A) hell bent on getting
(B) hell bent for getting
(C) hell bent upon getting
(D) No improvement

12. When it was feared that the serfs

might go too far and gain their
freedom from serfdom, the
- Protestant leaders joined the

princes at crushing them.

(A) into crushing
(B} in crushing

(C) without crushing
(D) No improvement

13. In the following question, choose the
word which is the exact OFPOSITE
of the given word : e

ENORMOUS \

(A} Soft N
(B) Average %}\;
(C) Tiny \{_,
(D) Weak Q\

14. are given

Some proverbs / 1d1oq§

belo® ith their
the correct
dle

(A} Efficient
{B) Treatmeant
(C} Beteirment

\i\% ae 2ed!

(D) Employd

§ewae! (g QU 11&12) : F06a4p
TRUAIRYL! IYER 78 2°9 QIR 6 SAHNEFE
2661 1% QGIAR 2°d UFe FeeAIR Fgea
SUAIRE QI QNI 2GR Acie WG
Q099 Feg0q Q18| AF, eIl asgRal
QARG @ &N, 606 VAT (D) 699 .
11. The workers are hell bent at getting

what is due to them.

(A} hell bent on getting
(B} hell bent for getting
(C) hell bent upen getting
(D) No improvement

12. When it wae feared that the serfs
might go too far and gain their
freedom fro serfdom, the
Protestant 1 rs joined the
princes them.

(A) into crushihg
(B} in
{C) crushing
(D) ovement
13 /R¢] 849¢0Q Q948 98¢ QI8 AIg! 667

QIR 403 O] IS RIS

6R19¢1Y (ENORMOUS)
(A) Qg (Soft)

(B) dIN6QR (Average)

(C) @& (Tiny)

(D) Q@R (Weak)

GII6Q 6@65R 6910S/ RGN (proverbs/
idioms) &8 Qe 4I0 FaQRd|
6QI9S/RPAA (proverb/idiom)@ OQ

adg gl

To keep one’s temper
{A) To become angry ’
(B) To be in good mood
(C} To preserve one’s energy
(D) None of the above

0Q eIe gl aag QI8 |
{A) Efficient

{(B) Treatmeant

(C) Beterment

(D} Employd

14,

15.
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@Pirection (Q. Nos. 16-18) : Read the

paragraph and answer the following :

I felt the wall of the tunnel shiver. The

earphones. Almost simultaneously, Jack
yelled down to me that there was a
- lwarning light on. Fleeting but spectacular
sights snapped into and out of view, the
snow, the shower of debris, the moon,
looming close and big, the dazzling
sunshine for once unfiltered by layers of
air. The last twelve hours before re-entry
were particular bone-chilling. During this
period, I had to go up into command
module. Even after the fiery re-entry
splashing down in 81° water in South
Pacific, we could still see our frosty
breath inside the command module.

twice in the given passage indicates
perhaps that it deals with

. (A} an alarming journey
(B) a commanding situation
(C) a journey into outer space
(D) a frightful battle

17. Which one of the follo“ﬁng re;gs&}s
would one consider as re/as
possible for the warnin \r:'.g-rts to

be on? , é\
(A) There was a sh@l; of debris

(C) that the air was unpolluted
(D) None of the above

master alarm squealed through my

| sunshine for once unfiltered by layers of

Pacific, we could ﬁi
 breath inside the (%ﬂ

16. The word ‘Command Module’ used

(V-

* N
N
N

(B} that there was no strong wind

el (94 QI 16-18) : AGERITY AR
6. 8R4 eee Qal

1 felt the wall of the tunnel shiver. The
master alarm squealed throughi my
earphones. Almost simultaneously, Jack
yelled down to me that there was a
warning light on. Fleeting but spectacular
sights snapped into and out of view, the
snow, the shower of debris, the moon,
looming close and big, the dazzling

air. The last twelve hours before re-entry
were particular bone-chilling. During this
period, I had te go up inte command
module. Even after the fiery re-entry
splashing down in 81° water in South
see our frosty
and module.

16. 52“2“@&@ 269960 @Ol AQIR’
(ComidndModule) 918 §RAR LD
G@a , 6RRIFI 9Bl OO FEQ —

(A} an alarming journey

gv (B) a commanding situation
(C) a journey into outer space
(D} a frightful battle

17. Q69ig QREYEe AUQ 6RE5] ACK
2ICAIS SRR AR QIS VISR 64
9IQ @GR?

) (A) "_ITh_cfé' was a shower of debris
- (B} Jack was yelling
(C} A catastrophe was imminent
(D) Thé‘moon was looming close
and big

18. The statement that the dazzling
sunshine was “for once unfiltered
by layers of air” means

(A) that the sun was very hot

(B) that there was no strong wind
(C) that the air was unpolluted
(D} None of the ahove
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19. In the question given below, out of
the four alternatives, choose the
one which can be substituted for
the given word/sentence :

Extreme old age when a man
behaves-like a fool.

* (A) Imbecility
(B) Senility
(C} Dotage
(D) Superannuation
20. In the following question, choose the

word which best expresses the
meaning of the given word :

EMBEZZLE
{A} Misappropriate
(B) Balance
(C} Remunerate
(D) Clear
21. Direction : Choose the correct

option considering the statements
followed by the conclusions : \

N
Statements :
Q)\k

(@) Some panthers are cé{%_‘
{b) All cats are mam
fc) Some m_amm@ are not

LAS

None follows
(B) Only (i) follows
(C) Only (i} and (it} follow

b@QI

(D) Only (i) and (iii) follow

19. 57 998 949ERa SI6aIF Sag AUGP
€01ITg @18, QIFIY TAIYINYS! 98 /IR
JoeeRea MO0 RULIR G

Extreme old age when a man
behaves like a fool.

(A) Imbecility

(B) Senility

(C} Dotage

(D) Superannuation

20. ©F 99949Q QUL a9 QIS AL 06X
S FUILIRY 990 22g 6N RS
QMg @68l
EMBE
(A) Mlsappr
(B} Bala
(C) R erate

21%696194 : dele 419l AgAad @l
QQ@G‘Q QRPN @a 20 QRgog Pue

*S A7E :
fa) 6960Q TOIRIA Fena ACE)

(b} QARG TR A 2SR

(c) 6R6OR IMAIN FOINIQ QERI
dee :

i) 6@REER YAAA TOIRIT 2T
(i) AAG TRIRNA GRYQIBT 2AE
(i} ANGY IEMA TV SR

fiv) QAOY GMQIR FRRNQ AT
(A) G699 699E Q6%

(B) 6@9@ F6Q18 (i)
(C) 6QeR BN (i) B (1)

(D) 699% B6AIQ (i) G fii)

/10-A 8
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23.

2. Divayabh gave an application for a
new passport to the clerk on
Monday afternoon. Next day was a
holiday. So, the clerk cleared the
papers on the next working day on
resumption of duty. The senior clerk
checked it on the same day but
forwarded it to the head clerk on
the next day. The head clerk
decided to dispose the case on the
subsequent day. On which of the
following days was the case put up
to the head clerk by the senior
clerk?

(A) Wednesday

(B) Thursday

(C) Friday

(D) None of the above

Direction : Choose the correct
option considering the statements
followed by the conclusions.

Statements :

fa) Some desks are apartments.
(b) All apartments are cars.

{c) Some cars are trucks.
Conclusions : :

(i) Some desks are trucks. Q}\}
(i) Some desks are cars\&l_'
fiii) Some cars are @

fiv) No truck is a de

(B) M-13, O-15
(C) L-12, M-14

(D) K-12, M-14

RN

22. Divayabh gave an application for a

23 Feuael :

QY

new passport to the clerk onj

‘Monday afternoon. Next day was a

holiday. So, the clerk cleared the
papers on the next working day on
resumption of duty. The senior clerk
checked it on the samé day but
forwarded it to the head clerk on
the next day. The head clerk
decided to dispose the case on the
subsequent day. On which of the
following days was the case put up
to the head clerk by the senior
clerk?

(A) Wednesday

(B) Thursday

(C), Friday

{D) None of the@?bove

\k QA ULARE !
QQ@G‘Q%‘ Gl 98 Q06 Segdq gua

mn\g

CREOR 669 2IAITERS 26T

{b} Qg 219IT6Ne IR 26S
(c) 6RELR NG TR US|
aee :

(i) 6R60R 6@ TR US|

(i) 6QEOR 60Y A}, AT
(i) 6REER G AQITEAS AT
fiv) 6HOT o] 662 §6<!

(A) BEQIQ 67LG Q6%

(B) 6@9% REQIQ (i) 4_° (i}
(C) 6QeR B6AIS (i) S (i), i) 49 (iv)
(D) 6QQR RS () Q! (iv), ()99 (i)

24. GFIq A%d @9 :

E-5, G-7, -9, K-11, ?
(A) L-13, N-14
(B) M-13, 0-15
(C) L-12, M-14
(D) K-12, M-14

/10-A
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25. In a row of children, Bali is seventh
from the left and Moti is fourth from
‘the right. When Bali and Moti
exchange positions, Bali will be the
fifteenth from the left. What will be
Moti’s position from the right?

" (A) Eighth
(A) 2]
(B)- Fourth P
(B) oQd
{C) Eleventh
(C} RIS
(D) Twelfth
(D) Q98
26. A woman presents a man as the'son |- 4 y .
of the brother of her mother. How 26. @69 ALl 6CllN QUgy QI Al
is the man related to the woman? AURR- Y2 q6a g%ggp AT Qg NG
(A) Nephew ' QIR QIR Q@ ARG ?
(B) Son (A) 49
(C) Cousin (B) QQ\Q
(D) Uncle /Q ®
(D) 19
27. Facing a man in the eye, Nero said, )
“Your son is my son’s uncle.” How V ~ . '
is the man related i 27/ ecs @18q a1g AR soq, saeal
- LR, “QAR F2 691 YA QIT AGE”|
(A) Brother \i\' ~ e g ~ q., =~ >
: _ L {z) QY PO 6T6A AR FAG QARG ?
{B) Father : \é_,
: Q" (A) @R
C) Uncle
(©) ‘ | &  (B) <Qial
andfatherge, N '
- . (C) Q<
% “added to”, ‘@ (D) 62699iIQ
ide by”, %"
iplied by”r_and “n» ' 2 arn = - wor »
acted from”, then 28. 4@ “I” A€l4, ‘@ 296, “%” 4R

62/ 4] =7 -

25, dRIAIeEa 6QIG A QAR AN
age, 6916 QIR 9981 6I606I6R
QIR G 661D 6QAFTR PP DGR 29,
QR QY VBLY FINER A24] Q121G
6RIGQ QIR 6R6Q 6297

NQ° “A” 6a°QI€IQ 950 @69, 6969
131102@6% 2441 =7

(A) 6

(B) 9

(C) 14

(D) 12
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29. Find the number of triangles in the
given figure :

.

(A) 8
(B) 10
(C) 12
(D) 14

30. Find the number of triangles in the

given figure :

31. If the marked price of 30 arti

is equal to the selling prics of

40 articles, then fiAd %
discount. &

(A) 25%

v 32 marks. But if he
marks then he will get

29. (JOR 0g6Q BYRIFIQ CAGYPRR QA
- 6HIT QIR !Q

(A) 8
(B) 10
(C) 12
(D) 14

30. go@ 526@ £9e@Ia 6AgILRQ A A
CHR QIR @]

A&@fﬁ

(A) 22

(B) 24 | 24
(C) 26 '
D) 28 . U_ (C) 26
(D) \SJ\, (D) 28

31. 98 30 § QQ gFO GRY 40 T QR
3Q0 ARy 990 QANIR, 6669 BRI %
EREQ 64T TR QA?

(A) 25%

(B) 33-33%

(C) 75%

(D) 20%

32. 966 AT 36% @A QY 32 FARER
carm §91 @q, A0 6Q 48% VAR A6H,
6069 6Q Q¥ GAQ 0 64 GAQ AR
ARG Q4 2 6HF QLI Xl

/10-A

11

(A) 40%
(C) 35% (C) 35%
(D) 45% (D} 45%

[P.T.O.




34.

(D) 3:1:4

33. The monthly incomes of X and Y

are in the ratio of 4:3 and their
monthly expenses are in the ratio
of 3 : 2. However, each saves T 6,000
per month. What is their total
monthly income?

(A) T28,000
(B) T 42,000
(C) 56,000

(D) Z 84,000

P works thrice as fast as O,
whereas P and Q together can work
four times as fast as R. If P, Q and
R work together on a job, then in
what ratio should they share the
earnings?

(A) 3:1:1
(B) 3:2:4

(C) 4:3:4
i };évork in 12

l%n can do it in
mahy days 12 men

together can
= work?

fz)?'

33.

34.

/68
(A)M3:1:
Q)B)sz

35.

'8 @6 QY 6qid9 QIdig 12 da6q

X8 Y@ q1de 208 29010 4: 3 ﬂe°b
6QAIeE AR AR AFAIQ 3:2 |
6069, U0 @98 A1Q] T 6,000 o7 A5G
RAB| 6AAIGT 671S AUTR T 6R6H 7

(A) 28,000
(B) T 42,000
(C) 56,000

(D) T 84,000

P, QOIg 548 916, 91N 969, 99, P|-
B Q Yag R @8@5161: a1g Qi
@AUIAER Q B R 98 69IE9
@14 9 96Q 67168 Feq ZIag
QIgeQl

et

.b

(C)4 3:

(D) 3:1:

@QYUR! €96R 20 Q4 AFRI 9RIQ 10
QQ6Q @23 6960 QI6Q 12 94 QW 6
15 96 %@ 698 Idig AAIg @867

(A) 4

(B) 5

(C)"6 (C) 6

(D) 7 (D) 7
/10-A 12 |



Direction (Q. Nos. 36-40) : In each
question below is given a statement
followed by three courses of action
numbered (i), (ii) and (iii). A course of
action is a step or administrative decision
to be taken for improvement, follow-up or
further action in regard to the problem,
policy, etc. On the basis of the
information given in the statement, you
have to assume everything in the
statement to be true, then decide which
of the suggested courses of actxon logically
follow(s) for pursuing :

36. Statement : A heavy unseasonal
downpour during last two days has
paralysed the normal life in the
‘State in which five persons were
killed but this has provided a huge
relief to the problem of acute water
crisis in the State.

Courses of action :

(i) The State Government should

set up a committee to rev1evz<\

\g\,

the alarming situation.
The State Governm uld
immediately remaoxe the

restrictions, on u potable
water in all t jor cities in

()

(C) Only (i) and (i)

(D) Only (i)

BedaIR! (949 Q°HY 36-40) : J6RNR g4 G6R
61T Q@ QARG QIR (i), (i) 9S° (i) G6d
090 96918 QIdy AN QYA AGYS | EQIT
QY A 6QITY TGETD @A 66Q1Q 2Q
gaIade aga, a6qd, agaqd Al aayl,
@18 aaR19 9Qedl QIdY QelId] A6
SAINAS ORI ARNXE 2ILAF Q6 &
QeIg RAUIG AGH 691 gL8l RARIG 69T 6069,
9g9Re QIFRIRIGES AU 6RUT MINA°CS
QIR AFAQE €915 266G Tga Fag|

36. @8 : G0 90 @@ UQ W848 AFANG
qdl AURMER ARIYE 2R, AR Q-

6998, esaaa Q6 AT Y
o] 9@, q IG169 F9IR R ARE
@ae R S Y9G geIe

=IaTS r)
xqgi}g.:
% (i)

()

agse 08§89 QA AR AU
AR 9@ KT 908 *AQ K|

QYA AAg Y L QEFIER
AINNER QUITIQ QTR UM
Q90 009l Ag gGeea
QA0IRER]N QTS|

QUSIER AFIG VRS ARRYLY AUSY
AARIS FRT, ANG! 6QIGIE KA
QRS

(iii)

(A) 6EAG ged
(B) 699% (i
(C) 6QQ® (i) B (iii)

(D) 6Q9% (i)

/10-A
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37. Statement : A large private bank
has decided to retrench one-third
of its employees in view of the huge
losses incurred by it during the past
three quarters.

Courses of action :
i) The Government should issue

a notification to general public

to immediately stop all

transactions with the bank.‘

The Government should direct

‘the bank to refrain from

retrenching its employees.

The Government should ask

the central bank of the country

to initiate an enquiry into the
bank’s activities and submit its
report. '

(A) None

(B) Only )

(C} Only (i)

(D) Only (iii)

(@)

fiii)

38. Statement : Many political activists
have decided to
demonstrations and block traffic

movement in the city during peak

rise in the prices of essenti
commodities.

Courses of action :
uld

ority of the city
dditional forces

e city.

administration
arry out preventive
the known criminals

(BY Only fi)
(C) Only (i)
(D) Only (i) and (i)

stage "

hours to protest against the steeﬁ\

iy The Governmen
immediately ban ms of
a'tatlons in th untry.,

¢ gity to help traffic

\{;\o qu@gﬁ Q7L FIRIER ALAEH F6FIR

37. 98 : 500 56010 g0 718 ey ﬂQIGQh
AR BF 62 99 G20 YEQAR NIS
2R 99 GO FIQIG, TG i)
@09 a1 AR 6RaEI
Iy &1
) % NI AR AIVCIQ 90 989 FHe

ARRIR CRRIR ARG DI IR

SHg gIe @ael 298|

I RIQ ARG RIdIg YR
- Q0QIQ 894 049 UInl AR Reud

€091 RGP

QUEe @I agaRe oF Geald

QagIae 9! G 699 691N

e gaalqgeef Qoo

(A) ee‘ﬂélqs'

33& AMIQENR HIRG QQva a@qqa

ANIeE Jamee gdsaly @8 i

(i)

fiti)

gede we° QI@IQ@Q 261 PRSI Fh6
A AUNCTER afeal Hga coaadl
QY 21 :

fi 69466Q 4Ag AR T6RING IR
@98 8% Q4 @bel

d206Q QIRINeq dRINe 98!
Plie ang Qease 260g caIRd
QERQ CAIRY FRAS BeiGe Qae!
Qoe|

d206a Q28S S€IgEl ARG,
goRIa QIegl 49U aIsY geaIae
docr @bQl a8e|

(A) 6RQQ (i)

(B) 6Q9% (i)

(C) Q9@ (i)

(D) 6R9% (i) 8 (i)

@)

(iii)

/10-A

14



39. Statement : The school dropout rate
~in many districts in the State has
‘increased sharply during the last few
- . years as the parents of these children
make them work in the fields owned
by others to earn enough for thern to

get at least one meal a:day.

Courses of action :

(i} The Government should put up a
mechanism to prov1de food grains
to the poor people in these districts
through public distribution system
to encourage the parents to send
their wards to school.

(i) The Government should close
~ down some of these schools in the
district and deploy the teachers
of these schools to nearby schools
and also ask remaining students

“to join these schools.

fiii) The Government should issue
arrest warrants for all the
parents who force their
children to work in fields
instead of attending classes.

(A) Only (i)

(B) Only (i)

(C) Only (i)

(D) Only (i) and (i)
40. Statement :

killed due to stampede W

participating in a recrultme ive
of police constables.

Courses of action @

(i) The officials in- e of the
recrul‘gmentbg&ess should

ore number of days to avoid
such incidents in future.

(B} Only (ii
(C) Only (i)

(D) Only (i) and (iii)

One aspirant wa\é\{:

suspended. '
yificials should be
f1nd out the

39, QG : 000 A8 9U6Q B19 N6 SR

2IBQ 2 AR YRS FRIEA Q&

JIQ81 @106 1€ daie doInielales 88

QA6Q IAQ 69ITN 6N GIY 61IGIIS

Qa9 I YK eaneala aie A

SH6Q 6QARG, QI *RIR2lE |

QI 219 :

i) TSIISIIER CATlRE g@ua@mma :
oINS 710 QLT6 GoR1 €Ial ARIRE
QN MO CIRINED T FQIGERER
o EMIGE §194 924 AN 7FIR
QAORI0 Qg S0k AT

(i) -Q9RI6 @nlte 9@ 9F 66e@
QP99 OF PR QOS] 1L QR
JER0 99 PRCY IMINAER

- G001E0 959 Q80 QEAIRYS!
gmmmg 7 @mnmq@%@ -
6QITEaS14 Q29! @08l
(iii) 6 err}? QG699 C0Q6a 68TER
%}QQ’&QI daiqies aag| -
\% SIe IQa6a T ARG
RQ FIQ 299 ACeI
) 6RAR (i)

lv - (B) €@ (i}

(C) 6QeR (iii)
(D) 6@Q@ (i} G (ii)

40. 23 : 6015Q *FeaAn 7YY AVUIFER
9GR8 K0QI AALER 864 AGITFR
ARISRTIER QY ATER|
QY 219 :

) Q6AISS gRu QDQeR N ANE
QEIQEl 6eRIP BRAS 6291 A6G|
(i) cad 0BgEsR AININISR. qQy sami
Qg YT QTR @Q 6ANTNY AQIR
QRI60 B6TIT QIR FORI TFR 2GS
RRINSD 6QlITNY PG L9 |/e3!
(i) 9GVIC6Q 9@ @F ATAQ AR
. Q@Ql QI RN QIFIRAY
QIS QI 2AGAICR ANG G
@ Y Q8% @9l
(A) 6RQ% (i)
(B) 6QQW (ii)
(C) 6QQR (i)
(D) 6@9@ (i) G fii)

/10-A
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Direction (Q. Nos. 41-45) : Study the
following information carefully and
answer the questions given below :
Following are the conditions for selecting
Senior Manager General Banking in a
bank :

The candidate must

il have secured at least 60 percent
marks in std. XII

(i) have secured at least 55 pei'cent
marks in Graduation in any
discipline

(i) have secured at least 60 percent
marks in Postgraduate degree/
diploma in Management/
Economics/Statistics

fiv) be at least 25 years and not more
than 35 years as on 01-03-2010

(v) have post qualification work
‘experience of at least 2 years as

i) have secured at least 40 pe cggft
marks in the personal inte&';gw.

In case of a candidate %tisﬁes

all the_above condi'tio except

[} abave\bu

has secured at

wrttten examination and at
least 35 percent marks in the
personal. interview, the case is
to be referred to the President-
Recruitment.

"\i\':

General Banking Officer in a bank{\

4

ORI (9 LY 41-45)
Je91g O IS° BY6R PAAIRAS! g9 28a
ool

SOITN QUITER QY TRVIRR-QRIISE IS
ARBIRRI eae B feqlg a8 @8
gigh Gde
f) QI08 |IBIF6Q ZTRFES 60% 9@
Qgel6el
(i) 6R €168 SAIGET IPRER ABGAER
55% QA8 QWo6al

(i) 0G0IRel | A3 / AQQHIReS
giecdlaa & 1\{@ K169 2ABRAER
60% GPFJ.Q o '

(iv) 01- 03 qel ABRAER 25 9F 1

A 621N @ 26Q

NRIQT QUET ATRA6R 2 edia FRIGE
Q19461 Qaeel QY 2ERGI 99|

{vé}i&“ﬂ I&TES QI!&JIQQ Qe gdeIea!

(V) PAS AVICINAER ACIFER 40% SAQ
AN R

GedI9 QUO1e QAR ATY ATYRE
YS! 964 9IEIT 68968

fa) 209 LG QR (i) 69 CA @ ICWA
6% 2T QEEQ 60% AYAER ARG
699609 AQIesnem Sa9q 1@
QG081 o0 QAT |

(b) @UQ Qe Q8 (W) 6@ fge
JAVIER LGRAERQ 65% @ NFEG
AVRINIAER ATRER 35% AR
QYR ASAIg 6996es Tguosnas
Geeq 980 eaidal

/10-A
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gn each question below are given details

of one candidate. You have fo take one of
the following courses of action based on
the information provided and the
conditions and sub-conditions given
above and mark the number of that
course of action as your answer. You are
not to assume anything other than
the information provided in each
question. All these are given to you as on
01-03-2010:

41, Kesav Vora was born on
8th November, 1978. He has
secured 65 percent marks in std.
XI1 and 60 percent marks in
Graduation. He has secured
58 percent marks in M.A. Economics
and 60 percent in ICWA. He has
been working in a bank as a
Generalist Officer for the past two
years after completing his

examination and 45 percent

T*
in the personal intervie‘u\{_"
(A) The data provid@} inadequate

President-Recruitment

(D) The candidate is to be selected

education. He has also securell o
50 percent marks in the writtg.Q:\%

N

26 9496Q 66BN gleiie AR6EY Ga QUG
FULIRGE QU6 GoR!, I8 8 VAANFLY
G K6 21065 761G 66T Ky AIQUg,
6RQIQ 629 We° 6QF RILY U I,
ZINIT QAR VR TFE FAG| YR 6
QAYARES ORI NG 2Nadl 2 69167
QoG GoIRg 6R6R QIF! Afg B8y 2IUag)
01-03-2010 & GRIQIAT]

41, €999 cQA 1978 AR F6RAR 8 6@
Q% C2IRE6R | 64 Q1G9 FIVIFAER 65%
QAR 4S° CI0R ga6R 60% FAQ AR
69 994, @ sﬂ@%ﬁ@sa 58% 4Q°
ICWA 63 6@}‘%9 9g83| 64 Gea
§916,041316 AR T6Q 96 §R 9
33 g%\fl YIHER ERERANY ATAQ

,g& 19y @8 2YRT! 6Q NI AYS
aNRIEa 50% QAA NS NFee

O) AINICINAER 45% AN AYEB|

(A) G948 6991 QIR 9RIF YAIAIRYS!
cal 9% aduig 6%

Q8 Qo8IF g 699604
QgITENeE Be0q 4B AaQIg 629

(B)

A% QoeT 6gdees QQICENSw
Aa0q 960 SUQIg 629

(C)

(D) Q& gieil e0e g28

/10-A
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42. Arindam Ghosh has been working
in a bank as a Generalist Officer
for the past four years after
completing his Postgraduate
Diploma in Management with
60 percent marks. He has secured
50 percent marks in the written
examination and 40 percent marks
in the personal interview. He has
also secured 70 percent marks in
std. XII.-He was born on 25th
February, 1975.

(A} The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The candidate is to be selected

(D) The candidate is not to be
selected

Sohan Majhi has secured
65 percent marks in B. Sc. and
70 percent -marks in M. Sc.
Statistics. He has been working%ﬁ'
a bank as Generalist Officer f: e
past three years after ¢ leting

his Postgraduation. He cured

43.

1 DOERS

' iew. He was
, 1982,

The case is to be referred to the
President-Recruitment

{D) The candidate is to be selected

N

55 percent marks inlt written
examination and 5 ent marks -

i

D

42. QR AT FHIERREAFER 60% TR
QY QICERNIRR BEYNN 699 @G BEE
Q1Red 28 6PN QUIFER 6RRIARY

- ¥9QQ @169 Y @& 219871 62 AYe
JQIFIER 50% KA Ya° I8 9e
QUVICRAER 40% G0 QEET] 8¢ A

| Je8 YBIEQ 70% RAQ QSER 69
1975 6XQRUAT 2568 &7 62IREEm]

(A) A9& 699 QIBl 99IF YLD
eay 9@ advy Q6w

(B) 4@ 9192 6gdces AgIoenas
Qe%q A%l @j@@ AAQUG 629

(C) 2@ gla‘@}&s‘e )
(D) g‘% 121 000 @ g8
43./%1@9 AIE §.92.9 69 65% 1e° el
Q.3 68 70% F99 98l €Q Aea
JI96RIRQ 621G 2AN U6 G16 ool
UG 6AITNY UITER 6R6RIRY adaq
@196Q @I1dY *GaIged| 6d AYe
AQIVIER 55% YS° IFSE AIFISRNAER

50% @AQ QYRS 6Q 1982 GRIN 869
g caIRgeml

(A} T8 6091 AR GOIR UAIRAS
ealy 9@ adyig gee

(B) @& @edai§ @aq ¢gdces
| AQIeENeS Racq 9P6 RRIg 629

(C) 99 aeqIis cgdees Fgicengs
0R0g 950 RA9Ig 626

(D) 9@ Qa1 one g28

/10-A
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44,

45.

Neha Salve has been working in a
bank as a Generalist Officer for the
past four years after completing her
Postgraduate degree in Economics
with 60 percent marks. She has
secured 60 percent marks in both
Graduation and std. XII. She
was born on 24th August, 1979. She

has secured 70 percent marks in

the written examination and
38 percent marks in the personal
interview.

(A) The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The case is to be referred to the
President-Recruitment

(D) The candidate is to be selected

Neeta Jaiswal was born on
2nd of June, 1980. She has been
working in a bank as a Generalist

Officer for the past three years\

after completing her Postgradu

degree in Economics ngh
setlired

¢. and
om. She

60 percent marks. She h
68 percent marks in
58 percent marks in

C) The case is to be referred to the
President-Recruitment

(D) The candidate is to be selected

(5

44,

. (1‘1@I

602l ANER FFQ 2891060 YIVERRA
60% QAR A8 &gl AR FG €AITY
IFER 6FERARNY 2TAQ KNER TG G|
of ¥ QI @& 21g8T| 64 200 QIS
@ Q98 65416Q 60% FARQ QYUEE| 1979
Qg 246Q 6Q @9 691088l 64 Gige
QAIVIER 70% B F4PET QAITISRIRER|
38% @RQ QY83 !

(A) 898 6991 €8 98 @AY

o8N 9@ adig ges

(B) 9@ @199 6gdeee Ggycenaw
7969 94l 9Fe *AQIq 629

(€) 9@ sgq a Agioenes Gecq!
QaQIg 629

{D(S@igw o 908

@AQIM 1980 @F 269 @F
62IRgem| 2da186a 60% AR QY
QIG6LIRG Bg1 1AM *7 96 §hed @
EQIENY QUITEE ERERAINY BTAQ NIER
QIdy 98 21g8| 6Q ¥6.4927 6Q 68%
8 §. @F] 62 58% FAQ QYRS! 64 A
Q00 AYe TNV 8 PG ARIGRAER
50% @9 QYE3

aga 699 AR gRle SRS
oay 9@ adyig g%

(A)

24 Q] 6gdcee AgIeenaw
AReq Al 4P @AQIg 629

(B)

(C) 9¢ 6gdeed QQIceres Faoq

Q¢ gPe *QQIg 629

(D) 9% gleh e0e §28
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46.

47.

48.

Keeping in mind the relation

between numbers of the first pair,

find the possible number for the 2nd

pair from the options given below :
43:12::84:7?

(A) 46

(B) 32

(C) 12

(D) None of the above

Three words are given in the
following question which have
common feature. Four options are
given below the three words, one of
which has that same common
feature. Find the word :

Fruit, Flower, Stem.
(A) Scent
(B) Leaf : .
(C) Vegetation

(D) Forest

Three words are %;:An in the
# options are

ving.guestion:
e of which is
ntdtiy e three words.

(C) Circus

(D) Carnivorous

N

46. JUF 6QIBA AHIYFR IR ARG L,

47.

48.

(C) 12

196 of Feg 9Ee AU Go1a calda
dalgy Qg IS AR F

- 43 :12:
(A) 46

847
(B) 32

(D) &g 6945 Q6%

0619 G495 a6 F6RIT 99 SaININE

L0 AR FIYY QER| B6aIT da
GER Q15T G‘ IQRE LdILIFg

QTR Qﬂl QH QLR 6Q% leale]

cEia 9!@%
GPI

(D) S&'R

76919 99Ye6a F6RIT I9 FUIRING,
% 9996 060 o160 Tag FUIQING,
6ALEQ 69ITN F6RIT a0 gEa 269
692 @RE0Y 6HIR QR *al

oeRIg, Je, Qe
(A) BFaIHR!
(B) SRg

(C) 49Q

(D) QI°QIE1

/10-A
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: "49.

50.

Raj travelled from a point X straight
to Y at a distance of 80 metres. He
turned right and walked 50 metres,
then again turned right and walked
70 metres. Finally, he turned right
and walked 50 metres. How far is
he from the starting point?

(A) 10 metres
(B) 20 metres
(C) 50 metres
(D} 70 metres

Pointing to a photograph, a person
tells his friend, “She is the
granddaughter of the elder brother.

of my father.” How is the girl in the -

photograph related to this man?
(A) Niece |
(B) Sister

(C) Aunt

(D) Sister-in-law

Direction (Q. Nos. 51-55) : In the
following diagram, the circle represents
College Professors, the triangle stand$ o
for Surgical Specialists and Medical‘\

49.

50.

BQ’1
fass

{‘Q’%&G‘l (g9 Q°sYl 51-55)

%@IQQIQGQ QLEIRIQ ARG @M, J6TUR,

Qe X 8gq Qul Yadys 80 fea gael|
Q914 FERI 64 LRGP INEM & 50 AR
QINeM| Graea 2K LITING Q@
70 §0Q QIRAER 6896Q, 64 RRASY
g 50 g SIREM] 6Q 2102 @YY 6R6Q
QREQ 86m?
(A) 10 figQ
(B) 20 figQ
(C) 50 figa
(D) 70 §i9@

69150 T6019 400 @0 964 ERIR BT
ey @F6R, “6d 571l QAT 9L VA
QIeEN 2RI TeGicPQl TaIT @A 698
6M% QRe @ ? |

(A) @2

(D) IR

AN [[a)

- —

Specialists are represented by \%E"
rectangle : : } 3

B95IRIA 690 ARAR 6FHING L AIGSINIR
699 6PRIN QARG QIR JPFNQ A6l

LA

%

51. GRS F6TAa CAQAIEE f ARIIN
6QIRG 2193, 6QAFNER YOS 6210218 -
A) A
(B) B
(C) C
(D) D
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52.

53.

54.

Surgical Specialists who are also
Medical Specialists but not
Professors are represented by

(A) B

(B) X

€)Y

(D) Z

C represents

(A) Medical Specialists
(B) Colleée Professors
(C) Surgical Specialists

(D) Medical
" Specialists

and Surgical

B represents

{A) Professors who are neither
Medical nor Surgical Specialists

(B} Professors who are not Surgi&é\

Specialists Q)
{C) Medical Specialists\%h.n are
u

neither Professors n%\ rgical
Specialists

S8e0rs v?a\ﬁ not Medical
2lists

jesgsors who are also
cialists are represented

52

\a““%

55.

53.

e

QFRIR CAAING CAARCH I BRI
620IRY 26T §g Q6TAR gLB 6QAIER

JeaNg 6210818

(A} B
(B) X
€ Y
(D) 2

C gode @6a

(A) 6AEIR 624IMY

(B) Q6R% geaqe)

{C) d@aim a«ﬁm

(D) @ 4e° RRIR 691N
MG F6a

(A) g6TAQ 6TRNIER QD 6AERIN
19 Q8RR 6RAINY Qud

(B) g6 69QAI6H AGIIR 6INAY
qes

(C) 698QIR 6IHING CAANIEE AW
geaaa 99° ATRIR 6IRY GLB

(D) g6TAQ 6ALLER 6ABRIN 6241RG
QL5

QENE JETAR 6LRANIEH F EABIIN
. 6Q91Rg 263 Qe gEFug cRINaB

(A) A
(B) X
(C) Y
(D) 2

22




Direction (Q. Nos. 56-60) : Read the

#ifollowing information carefully and
answer the questions given below :

fi) A, B, C, D, E, F and G are sitting
around a circle and are facing the
centre.

(i) G is second to the left of C, who is
to the immediate left of F.

~ fiii) A is third to the left of E.
fiv) B is between D and E.

56. Which of the following is false?
(A) A is fourth to the right of E

(B) G is to the immediate right of
D

(C) Fis third to the right of D
(D) B is to the immediate left of D

57. Which of the following is true?
(A) Cis the fourth to the left of B
(B} A is to the immediate right of G
(C) D is second to the left of E
(D} Bis second to the right of G

58. Which of the following pairs has the
first person sitting to the immediate

" the above

of the following is the
sition of F?

Fourth to the right of D
To the immediate left of C.
Between A and E

(€
(D) To the immediate right of A

)

? = = i, -
:f)t ‘;; he secone Qe \Y\t\ 58. G6qlg 6AIB FrIg 6996 gar <43
(B) CA W 3010 QIGa Qg FATER FFR?
(A) BE
(C) GD | 4) BB
(D) D& O> - (C) GD
D
of the fol}qﬁng has the (D) DG |
n&’"‘“g between the | 59 Fegig 6ade 2084 9N GIT A6
' e 948 alee 8?7
(4) FCE
(B) EFB
(C) DEB

57. a6ql b%“‘@ QoY 6T?
B QI9g 986 948

FeRaa! (g4 Q°¢4I 56-60) : Q68 IR
AQa A2 AF IL° G6R QAUININYS! 94 20
Qal
i) A, B, C, D, E, F¥@ G695 QRaIela
69G9 CIACISER 6RL] (4 @6 23gd|
(i) G, CQ Qg G060 aLl, 99 & FQ
QY TR 26T
(i) A, EQ QIFg Q01968 088 |
i) B, DG E Q €260 Q48|

B6. R65IQ cque fal uee?
(A) A, EC 01216Q 9460 088
(B) G, DG @I1219g 700 &6g
(C} F, DQ @I Q01960 QLR
(D) B, De(RIAg G0 A6

-/@_A, Q QI216Q FRTea a6T

(C) D, E@ Qi91g Z6196Q 0%%
(D) B, GQ @I216q Q01062 248

(D) 92Iq 6245 g6

f60IQ 600 Fa g6 2667
(A) D@ Q12916g 98

(B) CQ Qlag 88 qad

(C) AB EQ ¢I6Q

(D) A Q 2I9l61Q 2T Fe9

60.

/10-A
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61. Find the greatest 6-digit number 61. 82 2% G394 QRN A°WITY EM mmb
among the following which is o =
exactly divisible by 24, 15 and 36. 24, 15 3 36 QA OR RIS 6¥Q8|
(A) 999999 : (A) 999999
(B) 999720 (B} 999720
(C) 999750 (C} 999750
(D) 999820 (D} 999820
62. Which of the following -is/ are true 62. SORge nug 690G x = 7, y=5,z=3
forx=7,y=5, z=37 GIQ"GQE’GQI
(A} xyz + 3 is composite o . .
(B) xyz — 4 is prime (A) xyz + 3 6LQE (16C QG
(C} x+ y+ z+10is a perfect square (B) xyz - 4 6898 Ylwle]
(D} All of the above (C) x+y+2z+10 6ea% QQ: 6l
63. What is the least positive integer (D) QUCRIw g dag
by which 750 should be multiplied (/z1
sobtl})at the product is a perfect 63. QLT 2R Qiq" 4I (least positive
cube? . —
A 12 ineger) 2 Q91750 qéige QIITRes
(B) 24 @QIe @@ (perfect cube) gﬂl
(C) 36 (A) 1
(D) 48 )@1
(&), 36
64. A perfect square number can never (D) 48
have the digit at the unit’s % _ _
place. . .\g\ﬂ 66115 GRC QIN6R 6QIIT YL QG
(A) 4 ) @ 6l 2w cRalea AIE!
(B) 5 . N (A) 4
(C) 8 Q) , (B) 5
(D).9 \é"' (C) 8
' | ‘ : (D) 9
65. The value of ./0.0005 9 is _
: %S 65. ./0-00059049 @ €AY 62QE
: (A) 0-243
' (B) 00243
{C) 0-00243
oL ‘ . (D) 0-000243
ollowing statements _ ,
66. F76Q GUIAIRAQI 699 @GP 0K 7
al numbers are also Do
(A) Qg gIew Q°clHl deQlk Qe
here is no smallest whole Flad 6RIMEINg
number o = .
B) 6@l61d 960 QI Al @ 2l
(C) The greatest whole number is (B) a e N @
1000 (C) QEa¢l Qg d°¢lYl 62@R8 1000
(D) 1 is the smallest whole number (D) 1 62Q8 [YQOF AP Q°GN|
/10-A 24



.I 67.

- 68.

?

69.

12x(15+34)=(12x15)+{12x34), this
is known as

(A) distributivity of multiplication
over addition

closure property

associativity of addition and
multiplication

commutative property

(B)
(€)

(D)

In the following series, how many
such odd numbers are there which
are divisible by 3 or 5, then followed

"by odd numbers and then also

followed by even numbers :
12, 19, 21, 3, 25,
22, 21, 45, 46, 47, 48, 9, 50,
52, 54, 55, 56

(A) O

(B) 1

(C) 2

(D) 3

Aaradhya, Reyansh and Akshit

start at the same time in the same
direction to run around a circular

stadium. Aaradhya completes one\g\o%
round in 252 seconds, Reyansh ii\

308 seconds and Akshit in

seconds. After what time wi&j&ey
meet again at the startiﬁgf_" t?
(A) 42 minutes 12 sec :

(B) 44 minutes 30 \F ds
4S.minute conds

ons of the first two

ﬁ difference between -the
igits of the highest number

lowest number.

18, 35, 20,

number of the |

67.

68.
QIR 3 @A 5 Q9 FRITe g9, Qa6

69/@6@9."!61 6 286 AT ANL6R,

70. G66Q SR 646 60 JESUR AGN!

12x(15+34)=(12x15)+(12x 34}, 92
FEHIGA!

(A) 6919 QUCR IR SEE

(B) Q@@ Q&

(C) g0l 8 QERR IRLAAE

(D) S%6dIq ane

ORI GAI6Q €FERIC 28RS A°HY! 27

26dIQ @°l Qe 294 g4 G ¢I'desl

6QIG TGl QI 1l AGARE 6
12, 19, 21, 3, 25, 18, 35, 20,
00, 21, 45, 46, 47, 48, 9, 50,
32,54, 55, 5

(AYCO Q/\i

(B) 1
() 2
(D) 3y

AIe TEEQ 691N 6QININIQ AGEIER/
QTAN6Q 6F1ZQ QB QREMI QIR
252 6ACRLER 691G QURE CAAXN,
6RO 308 cdcaden B 8¢ 198
6ACHYER| 6660 QAL TSR 6QIER
JeeIa 2IeR 2R GINER IREe

69697

(A) 42 minutes 12 seconds
(B) 44 minutes 30 seconds
(C} 45 minutes 40 seconds
(D) 46 minutes 12 seconds

@ gar et Iwe QIF BRGI 6IRE!
738 359 456 342 986

QeaN 8 YIor IR A AT FU6R

el @U6Qg (difference) QIRIQ FAl

(A) 4

(B) 5

(C) 6

(D) 7
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71. The pie chart given below shows the
percentage-wise breakup . of
students in terms of specialization
in MBA :

If the total number of students is
8000, what is the total number of
students having specialization in IR,
Marketing and IT?

(A) 4640
(B) 4400
(C) 4260
(D) 4080
72. Which of the following statements

is sufficient to answer the, )
question? \

Question : Find the total ’%ﬁfgﬂer
-of students ini a class if class
has some boys and some girls.
Statements :

. er’%ys in a class

p’ o girls in a class
n the number of

;ﬂy sment (i) is sufficient
\ ither statement (i) or (ii) is

afficient

{C) Both statements (i) and (i) are
sufficient ‘

(D) Only statement (i} is sufficient

\\?" “/(D) 4080
N

71. §96@ B2AINYS! AR SIRGIA (piel§
chart) 6@ 49180 (MBA) 68 6684!
QQU6Q 8IQ IFIAINGR QO BIFA 9GP
QU gLae 621a8|

A8 dQia RIQSIYIT A°8 8000,
2.8 (IT G° 6 gIR.2iQ. (IR) 69
§eaggg) QYLD BIQ RIQIE AW

AL

(B) 4400
U\(C) 4260

72. BQRYS 03 FINE FIQ 6RGE 999 289
609 QIR Q62g?
g9 : 69419 AT TIG-VQIT Ayl
- QIRIR 99 AT 644160 @8 Q2 6 78 32
2ga, |
Q@ :
) €841 Q2 Aol 62QE 10 |
fi) 68416 E2 QG Q2 I°WI Ol
2 ANR| |
(A) 6QW QB (i) 6RRF V62T
(B) @& (i) 62I9QI6R AL fii) acay
62IRAER
(C) @9 8 (i) 8 (i) 968
(D) 629% @& (i) Jcag

/10-A 26



Q73. The table below shows the daily
i income (in ) of 50 persons. Study
the table carefully and answer the

question given below :

Income () No.of persons
Less than 300 12
Less than 350 26
‘Less than 400 34
Less than 450 40
Less than 500 50

How many persons earn ¥ 300 or.
more but less than ¥400? -
(A) 8
(B) 12
(C) 22
(D) 38
74. Five distinct shops sold Varying
quantities of umbrellas and

raincoats in a specific month. The
table given below provides the sales

figures for each shop : s

N

Number of

Number of r\:\
Shop ) \!
umbrellas sold | raincoats @o;
A 250 o
B © 120 e
C 200 + 260
Db e
300

0% more than that by
what is the difference
number of umbrellas

73, G6EI9 6ORER 50 K6 NGTR (§F
Q69) gEaea 2IA gode 6RIRR1 699R
Q ANINGIQ AT AGUE @R 6 g49

e ol

2 (o) e
QY

300 &1| 12
Bogen| 26
400 @ @61 | 34
450 @ @¢1 [ 40
500 ¢ @d [ 50

ER60RE QUG 300 Q 2R G 400 @ /¢

- QQIES Feml C)
(a) 8 (

(B) 12 Q/\
(€) 2 \Q
(D) % |

@9 QoR 6QIRIe Fhg 69184 AIa6a
R QOge 861 8 adiE 6aINIe IR
3¢ 6EgMSa J6SYR €QlIRIe AR I

7
)
fs;\' < amy QA AeB|

4

come | 79198 | cdidsame
T e | 88 Qe
A 250 100
B 120 140
C 200 260
D 350 320
E 250 300

A% 691919 FQIAI 80l 8 9dIG 6QI9I9R
IR QU QRIS E QIR TF 621Q8Q
QIOIG 40% 2@ T4 6561 6QARNF
FQIQI §F 6212291 861 6 94IG 6QI919a
QGYl FRICE DL 69667

 (A) 90

(B) 70 .(B) 70

(C) 60 (C) 60

(D) 50 (D) 50
/10-A 27 [P.T.O.



75. The pie chart given below shows the
percentage of students in five schools
and the table below shows the ratio
of boys and girls in each school.
Study the pie chart and the table and

answer the question that follows :

School E

Girls : Boys [ 3:4[2:3|5:3 1:2 4:1

If the total number of girls from all
the five schools is represented as
the pie chart, what will be the
‘measure of the sector angle (to the
nearest integer) correspondmg to

What will be the total t of 10
poles each of the @Ais of same

gight of three poles

f two poles.

St at (i) alone is sufficient
while statement (i) alone is not
sufficient

Statement (i} alone is sufficient
while statement (i) alone is not
sufficient

Either (i} or fii) is sufficient
Neither (i} nor (i) is sufficient

(C)
(D)

th Ef the weight of

ore than the total .

school B?
(A) 42° ~ smaa QI 6R6Q 6217
B) 32° o
(©) 45° ' \?V (5] 300
(D) 58° \g\\»\ (C) 48°
anc {D) 58°
76. In the hght of data s Y, < =
PLe @al

75. G969 GRUIAIRYS! AIR FIS (pie chartlg
62 CISE TAIPAR BIG BIGIS 9696 G
6EgMR G6F geQia SuIRaR g2 8
awa ARG FAAIGEI Q16 NS (pie
chart) @ 2GR 9Q 6 876Q T2ULIAYS
gae eae @2l

b

7
YIREL C | D] E

\Z
2:3

5:3(1:214:1

A p
é‘:ﬂ'qal 3,\‘

E}I QIR MR aIe B2
m AR QIY' (pie chart) RUCS
ﬂ@ gala SMIREQ B Q UgQd 699

gecuae AR BRA6R 108 YR (poles)
Q AQID 6RF 6R6T 6297
s :

() 98GR Y9 S 6AF Bara IR

ogel 4

(i) AT YRR YLD BRA0IQ TERIT
YIRQ AN BIF 20 627
Q8 (i) 9NN T Q6AY 6TCHERER
QQ (i) IR T6AY F6<
QS (1) 9NN T QCAY CACHERER
@8 (i) 9911 QsAY G6F
(C) B9 (i) AU (i} 6208 A6aY
(D) () 6% @ (i) & Qcag ges

(A)

(B)

/10-A
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d 77. Study the bar diagram given below
and answer the question :

Export of Pearls (in crores of 7)
11:4

77. 3960 FURAINIYS QIR QRGN (bar
diagram) § Qe @0 G 4 @
@2 |

2001 2'662 2003 2004 2005 2006 2007

Years

in export from 2006 to 20077
(A) (50/3)%

(B) 20%

(C) 19%

(D) 24%

78.
percentage profit earned bﬁ \o

companies A and B over si s.
Answer the guestion gi \Zel’ow :

(3

What was the percentage increase '

s BN
The following table gives tﬁé\\f

Export of Pearls (in crores of ﬂ

2001 2002 2003 20

2008 2006 2007
2006

gsaqa QgIFIER 6060
g@a IRE ? -
/3)%

/<B} 20%

(C) 19%
(D) 24%
78. /¢ QUG GAT RAIG1 AG BQIR! QAIGe

AR JOTeg 5% 60N QALIRT! 9L
PER TPININAN g9 2aa Gl

Year | 2008 | 2009 | 2010 | 20%$2012 | 2013
A a5 | 3504,.50° | 30 | 40 od | 2008 | 2009 | 2010 | 2011|2012 | 2013
4O\ so'gJ 45 | 40 | 45 Al 25 | 45 | 35 | 50 | 30 | 40
m | B| 40 | 35 | 50 | 45 | 40 | 45
x:\ [#the/income mpany Bin 2010
01 l/w n the ratio of 2 : 3 Q% 2010 G 2011 6@ FMFQ AR
spectivelyy then what was the . = o
rapio expenditures of that EIQ:E]I@ Q2IREA 2 : 3, ME ga T
1o (A) 9:12
) 10+ 29 {B) 10:29
(C) 20: 27 (C) 20:27
(D} 29:45 (D) 29:45

/10-A
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Direction (Q. Nos. 79 & 80) : Answer the
questions based on the following pie chart
that shows the sale of different fruits in
a day for a shop :

Fedae (99 °SMI 79 & 80) : F6qig UM
QIS (pie chart) ZRIIGER RER 72 QIR| 61Bq|
6QIRIE AR 66T Trea 8F 69RYQ o
INQ gedia Fal

Sales

mBanana 'Grapes ‘Apple 'Orange -Others

Sales

Bicanana Marésy

Apple lOrange .Othersl

79. If a total of 1200 kg of fruits were
sold in a day, calculate the amount
. of bananas sold (in kg).

&0‘

(C) 54 kg

(D) 60 kg

O) (69 sa)a 9BI4Q Qe ex

(A) 360 kg - : ‘\\
§\' 3

(B) 320 kg Q;\

(C) 300 kg E

79. 6(§Q~q QFEQ AYRID 1200 60F TR

6eWI, @GR (bananas) &G

(A} 360 68&
(B) 320 6%
(C) 300 €a&

(D) 280 6@&

80. @FI@| (oranges) 8 AFYPR (grapes) FRIEA
age gleiey edial

(A) 30 6aG
(B) 45 G

(C) 54 6%

(D) 60 6a%

/10-A | 30
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